D-THRESHOLD SHORT LESSON : a little/little, a few/few D3&\> & #2757 FEB 2025

a little & little, a few & few - ZNFHNDEE & fliva /i
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#511) She added a little sugar to her coffee. %2 —t —icd Lz A 72,

#5]2) Please let me have a little time to think. 4L %z 2% F X,

#53) There are a few coins in my pocket. £% v FOHhicHERS L H D £,

f514) A few members are still waiting for me. 2 A%D X > N—WE Z R ZFEFSTVE T,
“a few ~”1Z1x”hours/days/people/times” 7 E D AFH(EEIR) 2> T Hi~1 OFE
Kb H D X7,

#5115) He will go back to the U.S.A. a few months later.
BeAZ B r N1%2/2-37 NiRIC T X U AR D £7,
#16) I met him a few days ago at the meeting. %11/2-31iilc Z DEHEHICRVF L,
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#17) They have little time to finish the task. fif & 233 % #b S ZHRIZIE E A L0,
#418) There was little chance to get to the office on time.

TEBDITA 74 ATE S AIRIERIZEA E R o T,
#%19) We have few options to escape from the current critical situation.
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#110) He has few friends. #zicidkzEiad L LarvEdA,
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#11) Do you have some money? &4\ 5hH->T23 ?
11-a) No, I have little. v», 2L L%k,
11-b) Yes, I have a little. 5 4. PL%&6dH 5,
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#112) Do you have some spare chairs? FokiFvL ohd b 542
12-a) No, we have few. w2, 2L L2»H D E¥A,
12-b) Yes, we have a few. 3w, 2 La6H0 7,
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